Q1. How is narrow band modulated signal converted in to wide band modulated signal through indirect method (Armstrong Method) with suitable diagram?(T-4.8B)
Q2 Find the Fourier spectrum of an angle modulated  signal  xc(t) = Cos(ωct  + 0.2sinωmt).
Q3. Determine the frequency  in Hertz of 
                 xc(t) =  Cos200πt. Cos(5sin2πt) + sin200 πt sin (5sin2πt).(Q-4.1)
Q4.Find maximum phase deviation  and maximum frequency deviation in angle modulated signal 
                            xc(t) = 10cos[(108) πt +5sin2π(103)t].(Q-4.2)
Q5.An angle modulated signal is described by
                          xc(t) = 10cos[2π (108) t +0.1sin π(103)t].(Q-4.3)
(a) Considering the xc(t) as a PM signal with kp =10, find m(t)
(b) Considering the xc(t) as a FM signal with kf =10 π, find m(t)

